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deiegae Nd Bg (9-d4)
B - A G (FA) - ARAY - AR ol Ao i3a NEES:
4,658,076 973,832 3,684,244
[+ 205,540]
=7
[ 23,911]
[A] 4,428,625]
1,634,165 973,832 660,333
WS (AR AR #E [+ 205,540
[A] 1,428,625]
1,167,385 504,873 662,512
ST AA g [+ 205,540
[~ 961,845]
411,080 0 411,080
AT RFEAIA ALY [+ 205,540]
[A] 205,540]
411,080 0 411,080
401 Al H L Ao H] [+ 205,540
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04 AJAH] 411,080 0 411,080
O&xW F43e] vpejA At FEAA
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O%d¥ AbA28] HAE
150,000,000¢1 * 14] = 150,000
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OzAA Atde] B (HFAA
42,900,0009) * 12] 42,900
OxAW FA7 L5 (H4, gz, &
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OvpS(ATE)ETE A4 2 725 AFY
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206 A #=.u] 9,780 11,400 A1,620
01 A)En 9,780 11,400 A1,620
OARFHFEA} 3,0009 = 160kg 480
OvedaE 25%E(2A)
3,0009 = 440kg 1,320
OS2 = A5 fE(NA)
12,0009 = 600kg 7,200
OFAAAEANFTEAL)
120,000 = 5HFA 600
OFAAAE AT (20
12,0009 = 104+~ 120
OFZAA AT L) 12,000 = 59k 60
307 WZko]l A 100,000 47,559 52,441
05 WIHE= 100,000 47,559 52,441
OvlS (A= #2438 89 g3
$52 (15170 2) 100,000,000 %1 2] 100,000
401 A]/d v E o v 207,000 260,000 253,000
04 AlAdH| 207,000 260,000 253,000
OFAdd 48] J=sH=2) 3579
s A} 60,000,0009] * 12] 60,000
OAEH A 7HExe s AT
A} 60,000,0009 = 24] 120,000
OAEFY7] AAAFCGESS 828 &4
B9 4712) 2,500,000 = 42 10,000
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